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STATISTICS
( General )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

GROUP—A
1. Answer the following as directed : 1x10=10
were AT epearee o Bea i
(a) A time series is a set of values arranged
in order.

(Fill in the blank)
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(2)

(b) Which component of time series is

(c)

(d)

fe)

A9/244

applicable to the decline in the mortality
rate due to advance in medical science?
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What are the parameters of hyper-
geometric distribution?

%ﬂ@zwmﬁmmim%ﬁs?

Irregular fluctuation of time series is
also known ag

( Fill in the blank )
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What are the factors that affect
elasticity of demand?
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( Continued )

(@)

(h)
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(3

The linear functi
optimized is callec
(
Seg (optimized) 3
T T T |

Like Poisson - d

distribution has ¢
variance. (

o 0 T S

Under what
binomial distribut
distribution?
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The extreme poir
feasible solutions



(4)

::m?:?f (convex) FiRzfeq QW (feasible)
5o Ream TRYF 277 |
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G) Iff the objective function z is a function
Zantv:) variables only then the problem
e solved by graphical method.

( Write True or Fal

se )
T (objective) T =z, ¥B1 o o
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GROUP—B

2. Answer in brief :
v Ta fafr e
a ati
(a) gf‘fme negative binomial distribution

p e a; example in which it occurs -

T T 95 :
@ 1«2 T v
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b,
(b)  Define the laws of demand and suppl;

Y.
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A9/244
( Continued )

(c)

(@

(e)

Ans

(5)

Consider the deman
x=cp ¢
where ¢ and o are cc
this curve has cons
R Rl

x=cp”

T ¢ TF @] 3
g Rl X7

Distinguish betweer
and cyclical variatic

T e wgE
#fief for |

When is a mathen
problem called a 1

e afFm B o
& = ?

GROUP-

wer the following questior
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3. (a)

A9/244

Find the mean an¢
distﬁbution'
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(b)

Year (3%9) :
Profit (@) : 60 73 g

A9/244

(6)

Or / 5331

Show that the mean and variance
of the geometric distribution
Pl=g"p;x=0,12, ... are
respectively qp‘l and qp‘z,

s @ G Rzl
PM=9"p;x=0,1,2 -3 997 we FRI
T T gp~! Wi gp2,

Fit a straight line trenq
data and estimate the
the year 1984 .

O O M TRAART 7oy TP F
1984 578 YRy wT® wRpeqey 354y <

to the following
likely profit for

Or / 5331

What are the chief components of time
series? Describe how the secular trend

can be determined by the method of
moving average,
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( Continued )

1977 1978 1979 1980 1981 1982 1983
65 80 85 095

(c)

(d)
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(7))

Explain the graphic
LPP.
e o A R

Or / &%

_Write the applicatic

wafye afien 1 (LP
ey forar 1

If the demand o
p= ae™™™ where p i
the demand, prove
demand is -
elasticity of dem:
p= 10 e—xf2
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If the demand fu
for what value ©
demand will be u
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Answer the following questions :

S PTYES Ted AT :

(8)

GROUP—D

10x4=40

4. (a) Describe the method of least squares as

a pr-ocedure of measurement of trend in
a time series. State the merits and
demerits of the method.
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The data below gives the av;-:rage
quarterly prices of a commodity for five
yea.rs. Calculate the seasonal variation
indices by the method of link relatives :
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( Continued )

(b)

(c)
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(9

Explain price and
demand. Describ
estimating price €
from time series de

o o e S
ot | T AN CHA
o o 1 A
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What is meant b
Describe Pigou’s
demand curve from

o o A ¥ 1
cras Pigoud A
s Sesd =, T

Define the followis
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(i) Optimum sol
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(ii) Slack and st
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(10)

(iif) Feasible solution

TS TG
Or / w271

What is LPP? Solve the following
LPP problem graphically :

LPP ¥7 & w17 e fam Lppe
GRS o1t @ e 9

Maximize Z = 8x; + Txq
Subject to

3x; +x, <66000
X1 + X5 £45000
X; £20000

X, <40000

X1 20, xy, 20

(d) Define beta distribution of first kind.

Find the mean and the variance of beta
distribution of first kind and beta
distribution of second kind.

( Continued )

(11

Oor/ 49

Show that Gamma
normal distributio
the pa_rameter m.
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